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A. random. choice () B. getAge()
C. range() D. getSex()
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def getSex():

return (1) (CH, ")

def getAge():
return str(random. randint (18, 100))
def main(filename) :

with open(filename, 'w , encoding= utf-8) as fp:



# HAERK

fp.write (' Sex, Age\n’)
()

# 420 N AIIBENLE B

for i in range(20):

sex = (2)
age = (3)
line =7, . join([sex, age])+ \n’

fp. write (line)
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import xlrd

import matplotlib. pyplot as plt

import numpy as np

from sklearn import model selection

from sklearn. linear model import LogisticRegression
from sklearn import metrics

data = x1lrd. open workbook (sandianshuju. x1sx’)

sheet = data. sheet by index(0)



Density = sheet. col values(6)
Sugar = sheet. col values(7)

Res = sheet. col values(8)

# SR R HE

X = np. array( [Density, Sugar] )
#y RSN AT)

= np. array (Res)
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X = X. reshape (17, 2)
B2l oy KA

fl = plt. figure(l)

plt. title( watermelon 3a’)
plt. xlabel ( density’)
plt.ylabel C ratio sugar’)

#HIHUR I (CHOVE R, v BONERER, 2BEA LD

plt. scatter X[y == 0,0], X[y == 0, 1], marker =
" bad’)
plt. scatter X[y == 1,0], X[y == 1, 1], marker =

" good’)
plt. legend( @)) )

plt. show( )
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X train, X test, y train, vy test = model selection.train test split(X,

test size=0.5, random state=0)
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log model = LogisticRegression( )

B I ZRIZ 4 ] Y

log model. fit( X train, X test)

B Ty A

y pred = log model. predict ( (2) )
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print (metrics. confusion matrix(y test, y pred))

print (metrics. classification report(y test, y pred))
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No. of Broken Living Wing
Instance . . . Fly
Wings Wings Status Area/Weight
1 2 0 alive 2.5 T
2 2 1 alive 2.5 F
3 2 2 alive 2.6 F
4 2 0 dead 3.0 F
5 2 0 dead 3.2 F
6 0 0 alive F
7 1 0 alive F
8 2 0 alive 3.4 T
9 2 0 alive 2.0 F
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